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:LG\D� (OIDPL� 3XWUL�� ����������������� 6HMDUDK� 3RQGRN� 3HVDQWUHQ� 6DODIL\DK�
7DUEL\DK� ,VODPL\DK� .RWR� .DQGLV� .HFDPDWDQ� /HQJD\DQJ�
.DEXSDWHQ� 3HVLVLU� 6HODWDQ� ������������� 6NULSVL�� -XUXVDQ�
6HMDUDK��)DNXOWDV�,OPX�6RVLDO��813�������

6NULSVL� LQL� PHQMHODVNDQ� WHQWDQJ� 6HMDUDK� 3RQGRN� 3HVDQWUHQ� 6DODIL\DK�
7DUEL\DK� ,VODPL\DK� .RWR� .DQGLV� .HFDPDWDQ� /HQJD\DQJ� .DEXSDWHQ� 3HVLVLU�
6HODWDQ������������3RQGRN�3HVDQWUHQ�LQL�PHQJDMDUNDQ�LOPX�DJDPD�GHQJDQ�VLVWHP�
KDODTDK� �GXGXN� PHOLQJNDU�� GL� EHUDQGD� VXUDX� �VHNDUDQJ� PDVMLG� 1XUXO� 8OD� .RWR�
.DQGLV��� .HPXGLDQ� PXULG� WHUXV� EHUWDPEDK�� PHOLKDW� DQWXVLDVPH� WHUVHEXW��
PDV\DUDNDW� PXODL� VHFDUD� EHUJRWRQJ� UR\RQJ� PHPEDQJXQ� WHPSDW� VHDGDQ\D� GL�
VDPSLQJ� PDVMLG� WHUVHEXW�� GL� DWDV� WDQDK� \DQJ� WHODK� GLKLEDKNDQ� ROHK� PDV\DUDNDW�
VHWHPSDW�

3HQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH� VHMDUDK� GDUL� SURVHV�� +HXULVWLN� DWDX�
SHQJXPSXODQ�GDWD��.ULWLN�6XPEHU�GDQ� ,QWHUSUHWDVL�GDWD��VHUWD� WDKDS�DNKLU�DGDODK�
SHQXOLVDQ�VHMDUDK�VHKLQJJD�SHQHOLWLDQ�LQL�GDSDW�GLVHOHVDLNDQ�

+DVLO� SHQHOLWLDQ� PHQXQMXNDQ� EDKZD� SHQGLUL� SRQGRN� SHVDQWUHQ� DGDODK�
3DNLD�1DQWDQJ�������������EHUVDPD�QLQLDN�PDPDN�PDV\DUDNDW�.RWR�.DQGLV��MXJD�
GLEDQWX�ROHK�PDV\DUDNDW�DWDV�GDVDU�NHSULKDWLQDQ�WHUKDGDS�DQDN�DQDN�VHNLWDU�\DQJ�
NXUDQJ� PHQJHFDS� SHQGLGLNDQ� DJDPD� VHUWD� IDNWRU� HNRQRPL� GL� PDQD�PDV\DUDNDW�
\DQJ� EHUDGD� GL� ZLOD\DK� .RWR� .DQGLV� PHUXSDNDQ� RUDQJ�RUDQJ� NXUDQJ� PDPSX���
.HPXGLDQ� GLEDQWX� ROHK� +�� 7LPX� ������������� %X\D� $EGXO�0X¶LV� ������������
GDQ�%X\D�$EX�6LGDU�.DOLPDQGDUR��ODKLU�WDKXQ�������GDODP�PHQJDMDUNDQ�EHEHUDSD�
SHODMDUDQ�DJDPD�VHSHUWL�.LWDE�JXQGXO�GDQ�VHEDJDLQ\D���

3DGD� WDKXQ� ����� WHUMDGL� SHUXEDKDQ� QDPD�GDUL� 6HNRODK�7DUEL\DK�PHQMDGL�
3RQGRN�3HVDQWUHQ�6DODIL\DK�7DUEL\DK�,VODPL\DK�.RWR�.DQGLV��6HLULQJ�SHUXEDKDQ�
QDPD�PDND�EHUXEDK�SXOD�VLVWHP��GDQ�PXODL�DGD�DJHQGD�DWDX�MDGZDO�SRQGRN�XQWXN�
NHJLDWDQ�VHKDUL�KDUL�SDUD�VDQWUL��

'LWLQMDX�GDUL�VHJL�SHUNHPEDQJDQQ\D��3367,�PHPEXND�VDWXDQ�SHQGLGLNDQ�
XQWXN�WLQJNDW�PHQHQJDK�SHUWDPD�GLVHEXW�0DGUDVDK�7VDQDZL\DK��07V��GDQ�XQWXN�
WLQJNDW�PHQHQJDK�DWDV�GLVHEXW�0DGUDVDK�$OL\DK��0$��
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